Klasse N, 1.Durchgang

Board 7: 4 Anschriften

Board 1: 4 Anschriften Board 2: 4 Anschriften
N/S PkiNS || Score [ PktOW [ O/W N/S || PkiNS || Score || PkitOW || O/W
5.0[/50 1.0 flo Jav] [4 8 6.0[[50 0.0 flo Jl4a] [
5.0//50 1o 6w [av] [ 2 0.0 149 6o 6o [24] [+
5 o.o“ e.oH s [°*] |2 5 3.0“ -110” 3.0” 7o 2] |-
Lo 20 2sof o] gn Jus] [5 g s o] sof 8o Jee] | |
Board 3: 4 Anschriften N Board 4: 4 Anschriften
N/'s || PkiNs || score || Pkiow || ow N/s || PkiNs || score || Pkiow || ow
8 6.0 -100 oo dn [44] [2 8 4.0[[600 20 N [ssa | |-
2 0.0 -650 6o 8o [4v] [+ 2 4.0]l600 20l 6fs [5¢ -
5 2.0 -620 40 7o [av] |- 5 0.0[/150 6o 7fs [4¢ +1
4 40 -150 2.0 8w Jl4e] [+ | [_4| 40600 200 8ls [5& | [=_|]
[ Board5:aAnschriten | [ Board6:4 Anschriten |
N/S || PktNS |[ Score || PktOW || O/W N/S || PkitNS | Score || PktOW || O/W
5 50 -400 10 4o Jssa ] [- 5 10 -50 so 4[s [2a -1
8 20]  -420 a0 2w [lav - 8 5.0[|400 1o 2s A | |=
3 0.0 -450 6o 7o [a4v +1 3 10  -50 50 7N [3e -1
6 5.0[  -400 1.0 _llo fsa | [= | 6] 5.0f400 1ol s f3sa | [= ]

. —r
Board 8: 4 Anschriften

N/'s_ || PkiNs || score || Pkiow || ow N/s || PkiNs || score || Pkiow || ow
5 1.0 -100 so 4s [ssa | [ 5 10 -450 so 4o 4] [+1
8 6.0[|660 0o 2[s |ssaA +2 8 6.0|[50 oo 2w [5¢] [
3 4. 0"630 20 7[s |ssA +1 3 1 o|| -450 so 7w |[sv] |-

Board 9: 4 Anschriften Board 10: 4 Anschriften

N/S PktNS || Score || PktOW || O/W N/S |[ PktNS || Score || PktOW || O/W

7 20 50 4.0 s |av] [ 7 10 -170 5.0 2w Jsv] [+
6 5.0/[170 10 8N [[3a] [+ 6 6.0][100 0.0 slw [av] [
8 0.0 -150 6ol 8N [4a] [3 8 40 149 2.0 glw [av] |-
4 5.0[[170 1.0 N J3a] [+ 4 10 -170 5.0 fw Jav] [+

I aa
Board 11: 4 Anschriften

Board 12: 4 Anschriften

N/s || Pkins || score |[ Pktow || ow N/s || PkiNs ][ score || Pkiow || ow
7 3.0 420 3.0 o J4o] [ ] 7 6.0[[660 0.0 2ls |ssaA +2
6 3.0  -420 so 8o J4a] [=] 6 2.0|[630 40 8ls [asa +1
8 3.0  -420 so 8o J4o] [=] 8 2.0|[630 40 gls [asa +1
4 3.0 420 so 1o Jeo] [=] 4 2.0|[630 40 s |3sa +1
Board 13: 4 Anschriften Board 14: 4 Anschriften
N/S PktNS || Score || PktOW || O/W N/S || PktNS || Score || PktOW || O/W
1 50  -620 10 glo [[4a - 1 0.0 -460 60 8w [sa | [+2
7 50 620 1.0 6o |4 = 7 6.0 -180 oo e|w Jsa | [+2
4 10 -eo0] 50 8w [ssa | [+3 4 2.0 -430 40 8o [3sA | [+
5 1.0 -690 s 2w fssa | [«3 ] [ g 40 -210 20 2o Jisa] [«
Board 15: 4 Anschriften | Board 16: 4 Anschriften
N/S || PktNS || Score || PktOW || O/W N/S || PkiNS || Score | PktOW || O/W
1 2.0|[50 4.0 glw Jaa] [ 1 0.0[[170 6.0 s Jaa] [+
7 2.0|[50 a0 8w [as] |4 2.0][300 4.0 4v] |3
4 2.0||50 a0 gw J4a] [ 4.0]420 2.0 s |aa] [=
5 e.ono o.o“ 2w j’ -1 5 e.o”soo oof 2w j' 2
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Klasse N, 1.Durchgang

Board 17: 4 Anschriften Board 18: 4 Anschriften
N/S PktNS || Score || PktOW || O/W N/S |[ PktNS || Score || PktOW || O/W
6 4.0 -480 20 glw [4av +2 6 0.0] -200 6.0 glIN [losa
2 40| 480 20 4w [4v +2 2 4.0[|200 20 4o |3v
1 40 480 20 Aw [av +2 1 6.0][630 oo 7N [lasa | [+
5 0.0 -490 6.0 8o [3sa | [«3] [ gl 20 -100 a0 8N J3sa | |1 ]
Board 19: 4 Anschriften Board 20: 4 Anschriften
N/S |[ PktNS || Score | PktOW || O/W N/S |[ PkiNS || Score | PktOW || O/W
6 3.0 -630) 30l 8o |ssa +1 6.0[/690 00 g~ [3sA +3
2 0.0 -660 60 4o |ssa +2 1.0[630 50 4N [3sA +1
1 6.0 -600 0o 7o |ssa - 1 1.0[630 5o 7N [ssA +1
5 3.0 -630) 3.0 glo [3sa +1 E Y 2.0 8N |[3sA +2
Board 21: 4 Anschriften Board 22: 4 Anschriften
N/s || PkiNs || score || Pkiow || ow N/S || PkiNS || Score || Pktow || o/w
7 2.0|[140 a0 4s |24 +1 7 1.0[150 so 4N se] [+2
3 4.0/[630 200 8N [3sA +1 3 5.0][400 100 8N [54] |-
2 0.0 -100 6o dfs [2a -1 2 5.0][400 1ol N [54] |-
6 6.0/|660 0.0 gn [[asa 2 | ¢ 1.0[/150 s8N Jlae] [+2
Board 23: 4 Anschriften Board 24: 4 Anschriften
N/S PkiNS || Score | PktOW || O/W N/S || PkiNS || Score | PktOW || O/W
7 4.0[[100 200 4o [ae] [4 7 3.0] -460 30l 4w [ssaA +2
3 2.0  -100 40l 8N flav] [-1 3 3.0 -460 30 8w [ssa +2
2 00| -130 6ol  dfo [4¢] |- 2 3.0] -460 3o dfw [ssa -
6 6.0][170 o.0__gn [3v] [+ ¢ 3.0] -460 30l 8o [ssaA +2

Board 25: 4 Anschriften

Board 26: 4 Anschriften

_  ——————— e e
Board 27: 4 Anschriften

N/s || PkiNs || score || Pkiow || ow N/s || PkiNs || score || Pkiow || ow
1 2.0[[140 a0 §s [av - 1 10 -600 5o 8w [ssa -
4 6.0][460 0o  ln [3sa +2 4 5.0/ 100 1.0 elw [ssa -1
3 00| -100 6o 2ls [av -2 3 10[  -600 so 2w [ssa -
7 4.0[[450 20 gs Jl4v +1 7 5.0[[100 1o 8w 3 [-1 ]

e ——
Board 28: 4 Anschriften

NS | Pkins ][ score || Pktow || ow N/s || PkiNs || score || Pktow || ow
1 4.0[|150 20  slo [44] |s 1 0.0 -500 60|  5ls i' 2
4 0.0|[50 6o  elo [4a] [ 4 3.0  -450 3.0 glw [laa]| [+1
3 2.0”100 4.0“ 2[\w j’ - 3 3.0H -450 3o 2w [4a| [+t
7 6.0”800 o.oH 8l|w i’ 4 7 6.0“650 oof  8ls [av| [+
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